Workers’ Compensation Cost Strategic Management
Home Care Company A vs. Home Care Company B example:
Both companies have $2,000,000 payroll    
Company A utilized a strategic workers compensation plan and has “0” loss time claims.  
Company B, does not screen new employees, has no safety training and had several    
                     $5,000-$10,000 claims each year and no return to work program.  
Actual Premium for Company A 


Actual Premium for Company B
Preferred Insurer Rate (3.5%) $70,000

Assigned Risk Rate (5%) $100,000
20% Experience Mod
                .80


125%Experience Mod

1.25
25% Underwriter Discount         .75


0% Underwriter Discount     
0
10% Premium Discount             .90


0% Premium Discount        
0

Total Discount 46%



   

Final Premium         $37,800



Final Premium   $125,000
Company A experience mod is .80 and they have earned the maximum discount of 25%.

Their net premium is $37,800.

Company B experience mod is 1.25.  The underwriter has not allowed any discount.  Their net premium $125,000.

            Company A




Company B
               $70,000




$100,000

Emod .80 (0 loss time claims)
-$14,000      
Emod 1.25(Several claims)+$25,000

           









Schedule Discount (25%)-$14,000

Schedule Discount (0%) $0


Premium Discount (10%)$-4,200

Premium Discount (0%) $0
Total
$37,800



Total     $125,000




$125,000-$37,800=$87,200
Company B “cost of claims”…$87,200
WHAT IS YOUR CLAIMS COST?

Kyle & Paul Anderson at Lee F. Murphy can help design your strategic plan.
Plan to Succeed!

